OMB CONTROL NO.	0579-0101									DATE PREPARED	9/21/2023
TITLE OF INFORMATION COLLECTION REQUEST (ICR)	Scrapie in Sheep and Go	ats; Interstate	Movement Re	strictio	ons and	d Inder	nnity F	Program			
Additional line for ICR Title if title is too long.											
PART I - ICR INFORMATION, POINT OF CONT	-	NOTICE INFOR	MATION							DATA SUMMARY	
TYPE OF REQUEST POINT OF CONTACT (POC)										TAL RESPONDENTS NNUAL RESPONSES	,
	POC TELEPHONE NO. 240-461-4050										50%
											6.19257
PUBLIC COMMENT DOCKET NO. FEDERAL REGISTER NOTICE										AL BURDEN HOURS URS PER RESPONSE	<u>,</u>
	FEDERAL REGISTER NOTICE 80 FR 33301 FEDERAL REGISTER DATE May 24, 2023										97%
PART II - SUMMARY OF ACTIVITIES					-						
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Designated Scrapie Epidemiologist Training and Approval	9 CFR 54.1; 9 CFR 79.6(a)(8)	none			S1		I	20	20	0.250	5
Cooperative Agreement and Grants Workplan	9 CFR 54.2	none		E	S1		I	40	40	5	200
Cooperative Agreement and Grants Workplan	9 CFR 54.2	none		E	P3	x	I	2	2	10	20
Cooperative Agreement and Grants Financial Plan	9 CFR 54.2	none		E	S1		I	40	40	10	400
Cooperative Agreement and Grants Financial Plan	9 CFR 54.2	none		E	P3		1	2	2	10	20
Cooperative Agreement and Grants Quarterly Report	9 CFR 54.2	none		E	S1		I	40	160	10	1,600
Cooperative Agreement and Grants Quarterly Report	9 CFR 54.2	none		E	P3		I	2	8	10	80
Memorandum of Understanding Forms	9 CFR 54.2	none			S1		I	10	10	2	20
Request for Information: Record of Animals Moved	9 CFR 54.3(b)	VS 5-18		E	P1		I	5	5	1	5

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Request for Information: Record of Animals Moved	9 CFR 54.3(b)	VS 5-18		E	S1		1	5	10	1	10
Record of Animals Acquired	9 CFR 54.3(b)	VS 5-18A		E	S 1		I	5	10	1	10
Record of Animals Acquired	9 CFR 54.3(b)	VS 5-18A		E	P1		I	5	5	1	5
Individual Animal Information Report	9 CFR 54.3(b)	VS 5-20		E	P1		I	5	5	1	5
Individual Animal Information Report	9 CFR 54.3(b)	VS 5-20		E	S 1		I	5	10	1	10
Scrapie Epidemiology Report	9 CFR 54.3(b); 9 CFR 54.8(g)	VS 5-19D		E	S1		I	5	10	5.500	55
Scrapie Epidemiology Report	9 CFR 54.3(b); 9 CFR 54.8(g)	VS 5-19D		E	P1		I	5	5	5.500	28
Appraisal and Indemnity Claim Form	9 CFR 54.4(a); 9 CFR 54.5	VS 1-23		E	S1		1	5	5	1	5
Appraisal and Indemnity Claim Form	9 CFR 54.4(a); 9 CFR 54.5	VS 1-23		E	P1		I	5	5	1	5
Appraisal and Indemnity Claim Form Continuation Sheet	9 CFR 54.4(a); 9 CFR 54.5	VS 1-23A		E	S1		1	5	5	1	5
Appraisal and Indemnity Claim Form Continuation Sheet	9 CFR 54.4(a); 9 CFR 54.5	VS 1-23A		E	P1		1	5	5	1	5
Written Agreement/Certification	9 CFR 54.5	none		E	P1		ı	5	5	0.250	2
Inventory and Claim of Animal Value	9 CFR 54.6	none		E	S1		I	5	5	3	15
Receipt of Disposal Expenses (Payment of Indemnity)	9 CFR 54.7(d)	none		E	P1		I	5	5	0.170	1

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Report for EPA: Exempted Disinfectants Used	9 CFR 54.7(e)(2)(iv); 9 CFR 54.8(j)(1)	none		E	P1		I	5	5	0.500	3
Report for EPA: Exempted Disinfectants Used	9 CFR 54.7(e)(2)(iv); 9 CFR 54.8(j)(1)	none		E	S1	x	ı	16	16	0.500	8
Flock Plan	9 CFR 54.8	none		E	P1		ı	5	5	1	5
Flock Plan	9 CFR 54.8	none		E	P1		R	10	10	10	100
Flock Plan	9 CFR 54.8	none			S1		ı	2	2	1	2
Flock Plan	9 CFR 54.8	none		E	S1		R	2	2	10	20
Post Exposure Management and Monitoring Plan	9 CFR 54.8(g)	none		E	P1		ı	5	5	0.170	1
Post Exposure Management and Monitoring Plan	9 CFR 54.8(g)	none		E	P1		R	5	5	5	25
Post Exposure Management and Monitoring Plan	9 CFR 54.8(g)	none		E	S1		I	2	4	0.170	1
Post Exposure Management and Monitoring Plan	9 CFR 54.8(g)	none		E	S1		R	2	2	5	10
Report Suspect/Dead Animals	9 CFR 54.8(f); 9 CFR 54.21	none		E	P1		I	600	900	0.170	153
Report Suspect/Dead Animals	9 CFR 54.8(f); 9 CFR 54.21	none			S1		I	50	200	0.170	34

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Scrapie PEMMP Inspection Report	9 CFR 54.8(d)	VS 5-19C		E	P1		1	20	20	0.250	5
Scrapie PEMMP Inspection Report	9 CFR 54.8(d)	VS 5-19C		E	P1		R	20	20	5	100
Scrapie PEMMP Inspection Report	9 CFR 54.8(d)	VS 5-19C		E	S1		I	5	10	0.250	3
Scrapie PEMMP Inspection Report	9 CFR 54.8(d)	VS 5-19C		E	S1		R	5	5	5	25
Waiver of Requirements for Scrapie Control Pilot Projects	9 CFR 54.9; 9 CFR 79.7	none			S1		I	1	1	1	1
Program Approval of Tests for Scrapie	9 CFR 54.10	none			P1	x	I	1	1	10	10
Program Approval of Tests for Scrapie	9 CFR 54.10	none			\$1	x	I	1	1	10	10
Appeal of APHIS Decisions	9 CFR 54.10(h); 9 CFR 54.11(c); 9 CFR 54.21; 9 CFR 79.2(b)(5); 9 CFR 79.4(c)(3)	none			P1		I	5	5	2	10
Appeal of APHIS Decisions	9 CFR 54.10(h); 9 CFR 54.11(c); 9 CFR 54.21; 9 CFR 79.2(b)(5); 9 CFR 79.4(c)(3)	none			S1		I	2	2	3	6
Cooperative State-Federal Scrapie Control Program Scrapie Test Record	9 CFR 54.11(a)(8)	VS 5-29		E	P1		I	450	900	2	1,800
Cooperative State-Federal Scrapie Control Program Scrapie Test Record	9 CFR 54.11(a)(8)	VS 5-29		E	P1		R	3	3	10	30
Cooperative State-Federal Scrapie Control Program Scrapie Test Record	9 CFR 54.11(a)(8)	VS 5-29		E	\$1		I	30	120	2	240

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Cooperative State-Federal Scrapie Control Program Scrapie Test Record	9 CFR 54.11(a)(8)	VS 5-29		E	S1		R	1	1	10	10
Cooperative State-Federal Scrapie Control Program Scrapie Test Record Continuation Sheet	9 CFR 54.11(a)(8)	VS 5-29A		E	P1		I	225	450	1	450
Cooperative State-Federal Scrapie Control Program Scrapie Test Record Continuation Sheet	9 CFR 54.11(a)(8)	VS 5-29A		E	\$1		I	15	60	1	60
Specimen Submission Form	9 CFR 54.11(a)(8)	VS 10-4			P1	x	I	1,200	5,352	1	5,352
Specimen Submission Form	9 CFR 54.11(a)(8)	VS 10-4			\$1		I	29	5,365	1	5,365
Specimen Submission Form	9 CFR 54.11(a)(8)	VS 10-4		E	\$1		R	29	29	10	290
Specimen Submission Form Continuation Sheet	9 CFR 54.11(a)(8)	VS 10-4A		E	P1		I	600	2,100	1	2,100
Specimen Submission Form Continuation Sheet	9 CFR 54.11(a)(8)	VS 10-4A		E	\$1		I	15	2,100	1	2,100
Specimen Submission Form Continuation Sheet	9 CFR 54.11(a)(8)	VS 10-4A		E	\$1		R	15	15	5	75
Request for Laboratory Approval	9 CFR 54.11(a) and (b)	none			P1	x	I	1	1	2	2
Request for Laboratory Approval	9 CFR 54.11(a) and (b)	none			S1	x	I	1	1	2	2
Application for the Scrapie Flock Certification Program	9 CFR 54.21	VS 5-22		E	P1		I	5	5	0.160	1

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
SFCP Flock Inspection Report (initial Flock Inspection)	9 CFR 54.21	VS 5-19A		E	P1		1	5	5	2	10
SFCP Flock Inspection Report (initial Flock Inspection)	9 CFR 54.21	VS 5-19A		E	P1		R	5	5	10	50
SFCP Flock Inspection Report (initial Flock Inspection)	9 CFR 54.21	VS 5-19A		E	S1		I	2	8	2	16
SFCP Flock Inspection Report (initial Flock Inspection)	9 CFR 54.21	VS 5-19A		E	S1		R	2	2	10	20
SFCP Flock Inspection Report (Annual Inspection Report)	9 CFR 54.21	VS 5-19B		E	P1		1	80	80	1	80
SFCP Flock Inspection Report (Annual Inspection Report)	9 CFR 54.21	VS 5-19B		E	P1		R	100	100	10	1,000
SFCP Flock Inspection Report (Annual Inspection Report)	9 CFR 54.21	VS 5-19B		E	S1		I	10	100	1	100
SFCP Flock Inspection Report (Annual Inspection Report)	9 CFR 54.21	VS 5-19B		E	S1		R	10	10	10	100
Approval of Terminal Feedlots	9 CFR 54.1; 9 CFR 79.1	VS 5-10			P1		1	300	300	0.170	51
Approval of Terminal Feedlots	9 CFR 54.1; 9 CFR 79.1	VS 5-10		E	P1		R	300	300	52	15,600
Approval of Terminal Feedlots	9 CFR 54.1; 9 CFR 79.1	VS 5-10		E	S1		1	50	100	0.170	17
Approval of Terminal Feedlots	9 CFR 54.1; 9 CFR 79.1	VS 5-10		E	S1		R	50	50	1	50

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Owner/Hauler Statement	9 CFR 79.2(a)(1); 9 CFR 79.3(a)	VS 5-13		E	P1		I	155,000	310,000	0.080	24,800
Owner/Hauler Statement	9 CFR 79.2(a)(1); 9 CFR 79.3(a)	VS 5-13		E	P1		R	100,000	100,000	1	100,000
Interstate Certificate of Veterinary Inspection	9 CFR 79.5	VS 17-140			P1		I	27,500	151,250	0.750	113,438
Interstate Certificate of Veterinary Inspection	9 CFR 79.5	VS 17-140		E	P1		R	10,000	10,000	0.080	800
Interstate Certificate of Veterinary Inspection	9 CFR 79.5	VS 17-140		E	\$1		I	50	50	0.500	25
Interstate Certificate of Veterinary Inspection	9 CFR 79.5	VS 17-140		E	\$1		R	50	50	34	1,700
Request by a Breed Registry to Have its Tattoos Approved as Official ID	9 CFR 79.2(a)(2)	none			P1	x	I	10	10	1	10
Requests for Approval of Sheep or Goat Identification Device Types or Methods not Currently Approved	9 CFR 79.2(a)(2)	none			P1	x	I	1	1	10	10
Application for and Assignment of ID Numbers or Official Tags Including Blue Tags	9 CFR 79.2(b)	none			P1		I	25,500	25,500	0.080	2,040
Application for and Assignment of ID Numbers or Official Tags Including Blue Tags	9 CFR 79.2(b)	none		E	S1		I	6	6,000	0.080	480
Application for and Assignment of ID Numbers or Official Tags Including Blue Tags	9 CFR 79.2(b)	none		E	\$1		R	10	10	17	170
Application for and Assignment of Identification Numbers	9 CFR 79.2(b)	none			P1		I	10,000	10,000	0.170	1,700

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Application for and Assignment of Identification Numbers	9 CFR 79.2(b)	none			S1		I	6	3,000	0.170	510
Application for and Assignment of Identification Numbers	9 CFR 79.2(b)	none			S1		R	6	6	85	510
Reporting When Identification is Applied	9 CFR 79.2(b)(1-3), (g)	none			P1	x	I	100	1,200	2	2,400
Reporting When Identification is Applied	9 CFR 79.2(b)(1-3), (g)	none		E	P1	x	R	173,435	173,435	1	173,435
Reporting When Identification is Applied	9 CFR 79.2(b)(1-3), (g)	none		E	\$1		I	25	300	2	600
Reporting When Identification is Applied	9 CFR 79.2(b)(1-3), (g)	none		E	S1		R	25	25	12	300
Animals Moved in Interstate Commerce	9 CFR 79.2(f)	none		E	P1		R	173,435	173,435	2	346,870
Request to Replace Official ID for Lost or Replaced Official ID	9 CFR 79.2(h)(3)	none			P1		I	1,000	1,000	0.170	170
Request to Replace Official ID for Lost or Replaced Official ID	9 CFR 79.2(h)(3)	none		E	P1		R	60,000	60,000	0.080	4,800
Request to Replace Official ID for Lost or Replaced Official ID	9 CFR 79.2(h)(3)	none		E	S1		I	50	250	0.170	43
Request to Replace Official ID for Lost or Replaced Official ID	9 CFR 79.2(h)(3)	none		E	S1		R	50	50	1	50
Request for Approval to Produce or Renew Approval to Produce Official Identification Devices	9 CFR 79.2(k)(2)	none			P1	x	1	8	8	1.500	12

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Agreement to Send Official Ear Tags to Specified Individuals	9 CFR 79.2(k)(2)(iii)	none		E	P1		1	2	2	0.160	1
Monthly Report of Official Identification Produced	9 CFR 79.2(k)(2)(iii)(B)	none		E	P1		I	1	12	3	36
Data Entry of Official Identification Devices Produced and Assigned	9 CFR 79.2(k)(2)(iii)(D)	none		E	P1		I	7	30,800	0.250	7,700
Data Entry of Official Identification Devices Produced and Assigned	9 CFR 79.2(k)(2)(iii)(D)	none		E	P1		R	5,000	5,000	1	5,000
Data Entry of Official Identification Devices Produced and Assigned	9 CFR 79.2(d)(k)	none		E	P3	x	I	25	300	0.750	225
Compliance Agreement and Report for Consignments when Identification is Applied	9 CFR 79.3(k)	none			P1		I	100	1,200	0.300	360
Decline to Participate or Provide Information	9 CFR 79.4	none		E	P1		I	1	1	1	1
Herd Owner Notification of Designation of Flocks or Animals	9 CFR 79.4(c)(2)	none			S1		I	10	10	1	10
Permit for Movement of Restricted Animals	9 CFR 79.5	VS 1-27			P1		I	5	5	1	5
Permit for Movement of Restricted Animals	9 CFR 79.5	VS 1-27			S1		I	2	2	1	2
Consistent State Application - Application for Scrapie Classification, Classification Renewal, or Reclassification of a State	9 CFR 79.6	VS 5-24			S1	x	I	50	50	1	50
Epidemiology and Identification Compliance Report	9 CFR 79.6	none			S1		I	50	600	1	600

PART II - SUMMARY OF ACTIVITIES	ART II - SUMMARY OF ACTIVITIES												
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS		
Epidemiology and Identification Compliance Report	9 CFR 79.6	none		E	S1		R	50	50	40	2,000		
Concurrence with APHIS/State Animal Designation	9 CFR 79.1	none			S1		I	5	5	0.170	1		